uint8_t scd30::readMeasurement()

1
2. {

3. i2cBuff[@] = SCD30_CMMD_READ_MEAS >> 8;
4. i2cBuff[1] = SCD3@_CMMD_READ_MEAS & 255;
5

6

7

8

int res = _i2c.write(SCD30_I2C_ADDR, i2cBuff, 2, false);
if(res) return SCDnoAckERROR;

_i2c.read(SCD3@_I2C_ADDR | 1, i2cBuff, 18, false);

10. uintl6_t stat = (i2cBuff[@] << 8) | i2cBuff[1];
11. scdSTR.co2m = stat;

12. uint8 t dat = scd30::checkCrc2b(stat, i2cBuff[2]);
13. if(dat == SCDcrcERROR) return SCDcrcERRORvV1;

14.

15. stat = (i2cBuff[3] << 8) | i2cBuff[4];

16. scdSTR.co2l = stat;

17. dat = scd30::checkCrc2b(stat, i2cBuff[5]);

18. if(dat == SCDcrcERROR) return SCDcrcERRORvV2;

19.

20. stat = (i2cBuff[6] << 8) | i2cBuff[7];

21. scdSTR.tempm = stat;

22. dat = scd30::checkCrc2b(stat, i2cBuff[8]);

23. if(dat == SCDcrcERROR) return SCDcrcERRORV3;

24,

25. stat = (i2cBuff[9] << 8) | i2cBuff[10];

26. scdSTR.templ = stat;

27. dat = scd30::checkCrc2b(stat, i2cBuff[11]);

28. if(dat == SCDcrcERROR) return SCDcrcERRORV4;

29.

30. stat = (i2cBuff[12] << 8) | i2cBuff[13];

31. scdSTR.humm = stat;

32. dat = scd30::checkCrc2b(stat, i2cBuff[14]);

33. if(dat == SCDcrcERROR) return SCDcrcERRORVS;

34.

35. stat = (i2cBuff[15] << 8) | i2cBuff[16];

36. scdSTR.huml = stat;

37. dat = scd30::checkCrc2b(stat, i2cBuff[17]);

38. if(dat == SCDcrcERROR) return SCDcrcERRORV6;

39.

40. scdSTR.co2i = (scdSTR.co2m << 16) | scdSTR.co2l ;
41. scdSTR.tempi = (scdSTR.tempm << 16) | scdSTR.templ ;
42. scdSTR.humi = (scdSTR.humm << 16) | scdSTR.huml ;
43.

a44. scdSTR.co2f = *(float*)&scdSTR.co2i;

45. scdSTR.tempf = *(float*)&scdSTR.tempi;

46. scdSTR.humf = *(float*)&scdSTR.humi;

47.

48. return SCDnoERROR;

49. }



